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Work and Power Worksheet

Answer each question by calculating for the missing variable. Be sure to show all
calculation work in the space provided. Please circle your final answer and be sure it has
the proper label.

1. You must exert a force of 4.5 N on a book to slide it across a tabic:nlf youdo2.7J
of work in the process, how far have you moved the book?

W=+ D =
F=4.5N -~ 3. FT 0.0
W =233 CGen CLlm

2. A child pulls a sled up a snow-covered hill. The child does 405 J of work on the
sled. If the child walks 15 m up the hill, how large of a force must the child exert?

W =HosS Y W= D .

D= 1< e F=9p = R LONY :9\3{,{\‘
3. How much work is done on 2 small car if a 3150 N force is exerted to move it

75.5 m to the side of the road? _

F= 2)S0ON . W=FE5® s <

D - %*‘S‘m — %\'QON ¢ 2%

W =7 | - 2 23FB3AS

4, A crate is being lifted into a truck. If it is moved with a 2470 N force and 3650 J
of work is done, then how far is the crate being lifted?

F = z&rmt\\3 W= FD
- ;O - ’ - SG
P s en - B

5. T 16,700 J of work is done to shoot the human cannonball down a 3.05 m barrel,
then how much force is applied to the person to fire them out the cannon?
WElledoo T 0afD eS| ey
b’; %OC') wh F;w/p ?.O{ -

6. An elephant pushes with 2000 N on a load of trees. It then pushes these trees for
150 m. How much work did the elephant do? '

W=FD | W= 20008 © [ SO m

e A
e = 3000083
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7. An 190,000 W engine can accelerate from rest to a top speed in 9 s. How much

f\)owﬂworkdldt‘hecngme do? mm \N WmS G%vj wm}

\G\O,CS@DW::% = 190,000 % Geec = 1,4?0;0*50‘?&

8. Another engine reaches its tdp speed from rest in 7.5 s. It is able to perform
250,000 J of wok in that time. How much power does this engine have in that

=S 4 ., -
S 0 00 }

9. If a nnner exerts 350 J of work to make 125 W of power, then how long did it
take the runner to do the work?

ok > 350T P= 2
WA = AN
' t
25 (6D S0
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Worksheet - Work & Power Problems
I. Work

A. Sample Problems:

1. F =200 Newtons Formula: LD = Fl

d = 50 meters Substitution: __ Yy =z 2.0 N (SO m)
W=7 Answer with unit of measure: ! 0,000 T
2. F = 5 Newtons " Formula: (}J’—:‘FA - oY ()’L’w/f:
W =75 Joules Substitution: FE T = S} - d
D=7 Answer with unit of measure: 15wy
3. W =125 Joules Formula: =
d = 10 meters Substitution: Fe 25 <10
F=7 Answer with unit of measure: o AN
4. If150 Joules of work is needed to move a box 10 meters, what force was used?
IS T -
= = |5 N
B. Fill-in-the-blank:
1. WUY” /< is done when an object moves through a distance because ofa
Fovee. acting upon the object. C“ rdis p lu &WYCI")

2. When calculating work, you should use the formula: work = force X ,j istance.

3. The SI unit for Work isthe 0 UE . It is represented by the letter 5 3 .

C. Work Problems:

W "y
4 F=90N W=F4 s F=6N d= /F 6 w=1201 F="/4

d=5m W=72] d=24m
W=2 450 5 d=9 L2m F=9 Y

7. W=2 W= P 8. w=1321 A=W o w=1361 F="p
F=62.6N _ F=2N d=272n
d=13m 213,93 d=? loloyn  F=7 5 N

10. If 360 Joules of work -are needed to move a crate a distance of 4 meters; what is the weight of the

te? .0 3@0
Woeos EL‘L
D > tm

- 11, If a group of workers can apply a force of 1000 Newtons to move a crate 20 metm amount
e

of work will they have accomplished?

F=1000 N Wwe=Fd = (000N - Z0m
O = 20 m
12. If 68 Joules of work were necessary to move a 4 Newton crate, how far was the crate moved?
W8> w= ¥d

F =4 v-we = Y fﬁ

- o
D=7



) 13. How much work is done in holding a 15 N sack of potatoes while waiting in line at the grocery
4 store for 3 minutes.

ya ‘ 7 Joukeo
‘ L. Power
A. Sample Problems:
' ' W
1. W= 500 Joules Formula: P = l £
t = 25 seconds . Substitution: P -S00 T 2§
P=7? Answer with unit of measure:  2-©  \W atls
2. P =25 watts Formula: £ = chk/?
W = 5000 Joules Substitution: £ = joeo = 235
t=7 : Answer with unit of measure: = 200 S@C
3. P =170 watts Formula: W= Pt
t = 20 seconds Substitution: __w = {F1D - 2.0
W=7 Answer with unit of measure: 3400 I

4. If a man moves a large box that weighs 10 Newtons 20 meters in 30 seconds, how much power
was used? W 200 3 T A e |
: P A R \E, ’—} Ul TS __f

BOs
B. Fill-in-the-blank:
PD w 6\/ is the rate at which work is done.

2. 'When calculating power, you should use the formula P = W oy K divided by
Hme . In this formula, “P” stands for power, |4/ stands for work, and £ for time.

i

3. The SI unit for Power is the W att

C. Power Problems

-

: , o W
4, W=1007 140710 5. W=2257 225-25 6. P=20wW W=20.5

t=10s P=25W  t=15s
P=2? [o W t=7 qs W="? 2607
. T w
7..W=500] Smp325 8. w 3367 T="¢ 9 w=2 |oLa.4¥
t=25s t= t=16.6s W=kl
pP=2? 20w P=14W 74 sec P=64W  W-P.t

10. A person weighing 600 N gets on an elevator The elevator lifts the person 6m Wm 10 seconds. How
much power was used? W=F-d

F=boON €= 1000 _ e ALbe o
S = (o LooN lom = 36007 3&’/0&@0 /3@0[}\/

11. How much time is needed to produce 720 Joules of Work if 90 watts of power is used?
W 208 . ,
= /p. 1 A}ow =9 fee |

12. If 68 W of power is produced in 18 seconds, how much work i isdone? .,7
245

?@?N =W egw- 185 = 2
=195 W=P- w ]
13. Aset of pulleys lifts an 800 N crate 4 meters in 7 seconds. What power was used? % j[
W= Fro = SCON-4m= 22005 ~Towe, 20@
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